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1) What is the i"raab of 39 and @9\3 in:




l Dr'chiya.coml

Why is the noun ébT a diptote?

When does the omitted yaa' of a manquuS noun
reappear ?

Add to the jawaab of 5-‘

Fill in the blanks in each of the following

sentences with the correct form of {;—9 after

dropping its w :

3 b o) 2 A5



l Dr'Vaniya.coml

Fill in the blanks in each of the following

sentences with the correct form of ({\3 :

04
{z
~\\

Fill in the blanks in the following sentence with
the correct Harf jarr:

‘o
2%

Replace 5 with 421 Y in the following

sentence, and vocalize the last letter of the verb:



10) What is the i"raab of the word 5)\}5\ in:

«r 1 Y 60 e 50

11) Give the plural of 2'3 and :J‘J-:}



1) What is the i"raab of 3'3 and @-}‘j in:
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2) What is the i"raab of the maSdar mu'awwal in:
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3) Why is the noun ébT a diptote?

Because it is a non-Arabic Proper noun with more
than three letters.

4) When does the omitted yaa' of a manquuS noun
reappear ?

In three situations:

i) When it is manSuub
ii) When it is muDaaf
iii) When it has the definite article - al.

5) Add laam to the jawaab of 33

6) Fill in the blanks in each of the following

sentences with the correct form of {3—9 after

dropping its s :



7) Fill in the blanks in each of the following

sentences with the correct form of C\-;:-i :

\
L o
i\

\
Yo
o\
‘o
\

oy
Ct o
—\n\
o
$
N
O

4
{:
—
.’
g\
\o
—u\
O

8) Fill in the blanks in the following sentence with
the correct Harf jarr:

LSLG \uucc&\é\w

9) Replace UJ with i-}é\zj\'ﬂ in the following

sentence, and vocalize the last letter of the verb:



10) What is the i"raab of the word O\}J\ in:

N HPS R

Sy Salb AL aady AaSIEy F et () st

’fa/.}

£

11) Give the plural of 2'3 and :J\Jj



